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PRINT S
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A= A(i-1) + A(i-2)
Next i
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OPEN "C:SCORE.DAT" FOR APPEND AS #1
NAMS$="% 3":GRADE$="A"

WRITE #1, NAMS$,GRADES$
CLOSE #1
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3. A IBMPCAZE&TAT #EMRsEZEXH_(5) Fo__ (6) FERER ARG AED
FEIHAFPCLEYLAMMBILREETHHE HERTHENHARKE -
4. 1~10:N=0
DO UNTIL NOT (L<15 OR L>=60)
N=N+1
IF 1.<30 THEN L=L+75
IF L>=50 THEN L=L-10
LOOP
PRINT “L=" ;L;" N=" N
RHUTHERER L= (1) N=_(8)
5. (9) EAMBERBREMONE > UABBEAME
6.— 3R EAS A4 256MB 2 DRAM » At £ 282 5 & & % V18 32Mx1 ) DRAM Afdaix? (10)
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FOR K=__(11) :
FORI=___(12)
FORJ=___ (13)
AQD=ALD-(ALKYAKK)*AK.T)
NEXTJ
NEXT I

NEXT K
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fibonacci(n)=0, if n=0

fibonacci(n)=1, if n=1
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WK% fibonacci(10)&9 # = . (14)
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function sum(n)

begin
if n=} then sum:=1
else sum:=_ (16)
end.
11.FOR I=1 TO 2
FORJ=1TOI
FORK=1TO]J
PRINT %2001
NEXTK
NEXTJ
NEXT I
LHXF o HEp L 20017 _(17) k9

28BS Ml ST X8 VBRA  Frhimek?
Private Sub Form_Activate()
Chalks=Val(InputBox( “s§#i Ak 23" )
q= (18)
r= 19
print Chalks;” €% 24" ;q;" 31" ;" #&"
End Sub
BEHTHEABTLER
FOR I=1 TO 9 STEP 2
S=FIX((10-D)/2)
PRINT SPC(S);
FORJ=1TO1
CALL SUBI(A)
NEXTJ
PRINT
NEXT1
END
SUB SUBI(A)
A=A+1
PRINT CHRS$(64+A);
END SUB (20)
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